HIEE

20251 & =01 At .

W A &R B A=24 : &Fl

=
SE (| At =l P gl s MEZAH
= gt =

O F22S 201262352 20 x 2 33%) x 1204 -
89,512,000

20188340l 173,704,000 167,225,000 -6,479,000
O 92R2 20182 (3AI2F 20 x & 30Y) x 1204 -
77,713,000

pIsIE=: O 12 6,0002 x 33

ATHEH|L 78,408,000 61,776,000 -16,632,000
O 1208 5,148,000 x 1220 : 61,776,000
O Z225 HIZ022 & 500,000 12242 : 6,000,000

JIEHIZ0I%L 7,200,000 8,400,000 1,200,000
O 9222 HIS022 & 200,000 12HY : 2,400,000

DHAE 2! 25,000,000 20,000,000 -5,000,000

= O UX2l SHEKZ, F2E2IXI2 & 500,000% 12 :

2N8=xz 6,000,000 6,000,000 016.000.000

AN2REX2 10,000,000 10,000,000 0|0 =Ex2 = : 10,000,000

JIEtE =2 5,000,000 10,000,000 5,000,000 O 1 &0l ExX2 S : 10,000,000

PNRSE=LE =) 4,000,000 4,000,000 0

HIXIESRZ2 3,000,000 3,000,000 0|0 YA AlTH2HI NIX 822 =
O FU2BS(QIAH| 81) x 12902 © 412,711,000
O 22R2H(QIAH| B1) x 12JH8 : 264,219,000

)| LAZH 42 1,042,916,000 1,128,217,000 85,301,000
O F2BS(QIAH] DIBHY) x 124K : 275,141,000

|
= O Y2Q2H(I2H| 0IEtd) x 12JH= : 176,146,000

O Z2BS(0IAH] 8+) 6,48 JIE= xH2 32 x 1204

PN F= el 144,507,000 190,080,000 45,573,000 | ™ {1.048.000

ez JIEIEZ 100,000,000 50,000,000 -50,000, 000
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=
B0l bl SEJUINEE =2 AEI
2 £ =
&3 &= JEHHY S (FH3) 5,000,000 5,000,000 0
dEE0IE=S 42,059,580 55,000,000 12,940,420 | O ®E< 0123 : 55,000,000
== =1 HMAT 0|23 (AMZH]) + 3,000,000
HEACOIZS(ATHZHI) 2,593,000 3,500,000 907,000
HET 0lFS(HA AlTW=HI) : 500,000
SES30H2 3,000,000 2,000,000 -1,000,000
JIEHHI=OI Rt~ 600,000 400,000 -200,000
HEAMTHE 7,200,000 8,400,000 1,200,000 | O AMZH| oiE BAHK (102 x & 70,000) x 12942
T =g O 22U 9N s & S HFHIE 3,000,000
O 12 JIEt &==&) 400,000 x 1294 : 4,800,000
JIERR 4 19,200,000 10,500,000 8,700,000
O JIEt Helf™ EQIE 2] @ 2,200,000
O JIEt Hlild Z2RIE S &==& : 500,000&
(HE L2024
HE)E2xs [EX3Y NEEXS 0 0 0
29
HAC0IED (502
(2000 | g2 SEEIEEICETEY 0 0 0
HE)olga = -
EINEE] 0 0 0
Rl 1,679,387,580 1,743,498,000 64,110,420
O FUES HFE SAEL S0 ¢ 385,572,000
O 2R AF SAH =0 : 154,218,000
=0 697,572,580 737,990,000 40,417,420
O FUES 28 SAEL S0 ¢ 132,600,000
O L2 2t SAKL =0 © 66,600,000
AR Q14| O FUES AF SAKL M= : 23,300,000
O 2222 AE SAHL M= : 15,600,000
A8+ 48,000,000 50,600,000 2,600,000
O FUES 28 SAEL Ml==& : 8,800,000
O L2 2HE SAHL M= : 2,900,000
LELHS 55,000,000 62,500,000 7,500,000 | © =225 AE SALL €E&5 + 13,500,000
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SIELINET o8k 2 NEEV)
B £ =
O JtAL3 @ 100,000 * 12JH& = 1,200,000
O d3te3za 50,000 » 1294 = 600,000
O 2IHY2= : 50,000 * 122H8 : 600,000
2223 ¥ 2 38,900,000 32,900,000 -6,000,000
O JIEt 2= & J%He 2= @ 6,000,000
O 2EAMI= ¢ 10,000,000
O 2 ATHZHI AFY 2EAIZ © 100,000
O X&E2FMl 1 2,000,000x12& = 24,000,000
agesa]
il 44,000,000 37,000,000 =7,000,000| O XEHISXHl @ 13,000,000
O Xt 22F4l : 10,000,000
Ax= 36,000,000 36,000,000 0[O 2= ¥ 2t2/dl - 3,000,000+1290F = 36,000,000
O SAHA EEE : 1,000,000~=2112] = 4,000,000
O HA=e|ZM(F2HES): 1,000,000«27118]: 4,000,000
JIEH2ZHI 18,000,000 15,000,000 -3,000,000
O XS2ZM(L222): 500,000+27113]: 2,000,000
O 12 &l : 5,000,000
A& 13,800,000 13,800,000 01O AlZINE28l S : 13,800,000
O X2z 1 2,000,000+ 122H& = 17,000,000
Al&HI AHAHE SH| 44,000,000 37,000,000 -7,000,000
O JIE RH&HFSHI ¢ 20,000,000
AN&EHIRXIb 10,000,000 10,000,000 01O & AIZZEHI |4l : 9,000,000
O == A AM=4| : 7,500,000 129H& = 90,000,000
O 1 2 JIEt EE24HI © 11,600,000
AU 109,200,000 110,500,000 1,300,000
O ZAT=H| : 700,000& x 124 = 8,400,000
apesa]
O &MUz OIFZ(RAATHZHI) : 500,000
=ZJ|2t&H| 20,000,000 17,000,000 -3,000,000 | O JI1Et =221 &H| : 17,000,000
o|=H| 10,000,000 10,000,000 01O 2291 & 2225 : 10,000,000




SIELINET SESUIG 2 NEEV)
B £ =
2l ol 2,000,000 2,000,000 0] O AHZXel Z2ld| : 2,000,000
O AR2ZAlZ 33| @ 16,800,000
O JIEXX L JIE0LHE &0 Z2 03 (MAIEXR
D278 S): 3,000,00
O AHDIs T2 (MEME,
A 1T 2H (3]
Atgtl D= A 35,000,000 42,500,000 7,500,000 O oIXIls T2 (92 DA
3,600,000
O MalES Z208 (XIFALS &
5,000,000
O JIEt Z208 u ¥ 24|
&3 dES JIEtd == 120,000,000 166,000,000 46,000,000
HEEXE | WHEXE MIISESINES 25,000,000 2,000,000 -23,000,000
O L33 bz & A8HIES:
SPNES ESPNES 30,200,000 30,500,000 300,000 [ O JIEF Helld ZEQIE XAXE -
O Helld ZRIE Xtz 2 JIEH XIZE ¢ 500,000
(i lI=1]=] 20,000,000 20,000,000 0
oiigIdl & JIEt
Bret= 10,000,000 10,000,000 0
NIZEH 1,679,387,580 1,743,498,000 64,110,420

5/5




